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most suitable to develop co-operation among
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. 126. Read the following passage

Questions 121
. BRFESNT « X . -

and answer the questions that follow.
a sunny Spring morning, Emily walked
he small park near hei house, enjoying

irs of blooming flowers and the
f birds. She paused by a pond,
llv across the water.
jer woman

eerful chirping ¢
watching ducks olide peacefu

noti ed an olc
VY bags of 5;1‘<>u~1‘i(-s‘.
Emily got up and offered her
ful for her kindness, shared
as they walked

As she sat on a ben he
oling to carry

LilEx

T }w."
| ) L &

nearby strug
¢

Without hesitation,
help. The woman, grate
-outh with Emily

stories of her

1t did the older woman do after Emily
her with the bags
( :ved Emily’s help.
She walked away quia‘t]_\'.



the passage ?
l } ..dé)L H

Which wor

in the pass

.t describes Jim:’lj."_s attitude

reservs

im;nh. n

curious

(




Why did Emily stop by the ;mnd 2

To feed the ducks

To relax and enjoy the scenery

To talk to the older woman

To pi(_‘k flowers

5. What is the main theme of

(A) The beauty of naturé

; PPN
the passage °

ping others

(B) The value of hel

(C) Youth and aging

(D) Birds and animals




126. The phrase

‘without hositatinn' suggt‘.\“ts t

Emily :

hat

(A) thought for a while before helping the

womerl

(B)

hclp«-d her immodiatvl_\'

(©)

(D)

was unsure about helping her

hesitated before hvlpins’) her
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D) ) |
+ Choose the best option from

mey managed to put

well. She was able to :

ep her point to herself

€xpress the point clearly

¥y

ude I'ir. I It."‘]il‘.t"~

confuse evervone

mountain

ed In snow.

beautifully

beautiful




following sentences expresses

rises in the east.

eezes at 0 degrees Celsius.

teacher in the school.

T davs in a week.

s to apply for the post

. she is applying for the

nsideration

~'-~p.xmliun




to \il'i”}‘

11 stay indoors

raining.

(A)

while

although

until

because
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133. A person who narrates or writes thei

life story is working on :

(A) a biography

an autobiography

a short story

d lcgt,'nd

The chef was preparing a delicious mea
delicious meal :

(A) is prepared by the chef.
(B)

has prepared 'xj\‘ the chef.

(C)

had been prepared by the

A7

wdas l"l D
a5 being prepared by the

VTl
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it

hobbies

(D)

duties




complex pu;f/lu injusta few

Riva solve d the

saying it was a piece of cake. What

minutes,
does this indicate ?

ras a dessert.

was very

was extremely difficult.

major challenge.

y cd AL

[he asked her students to
r assignments Dy the end of

the week

(A) submut

(B) subnmith
(C) submitted

(D) submits
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139. The new employee 1S VEI) nyntmzsl.lnll; aboul

" WOl l'\,

(C) ..’.HL:.

(D) because

they rested _

After the long walk,
le of a large lree.

the shac
(A) on
by

at




141.

Her v

rolce was ¢

s soft as silk.

contains an C.,\'amplv of :

(A)

1‘nctf1phm'

hyper bole

simile

irony

One should sympathise _

P(_)UI‘.

for

with

to

mn

This sentence




He hardlvy comes to office

-~
4

A) did he

d(l."\ hl‘

doesn’t he

don’'t he

L




;e . 144. “Ten thousand saw
) entri

['at a glance” is an
example of :

(A) hyperbole

(B) simile
©) alliteration

(D) metaphor

. Despite knowing the risks of sharing
personal information online, Riya chose to

turn a blind eye to the dangers of social
media. What does this mean ?

(A) She addressed the danger directly.

(B) She ignored the danger.

(C) She exaggerated the danger.

(D) She warned others about the danger.




146. She went to the store to buy

and bread.

(A) some

(B) any
(C) much

(D) many

_ Ghe has been working here ______

years.

(A) since

(B) for

(€) 1n

eggs




148, Which word is o

Pposite in me
€Xpand’ ?

Aning ¢

InCrease
enla rge

extend

contract

- A person who studies past artefacts ang
remains is :

(A) abiologist

an archaeologist

a linguist

an astronome:
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150. Which word means the same as ‘very
large’ ?

(A) tiny

(B) Dbeautiful

(C) huge

(D) normal
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(A) Oloemussidd

(B) dlogj@d

(C) eo0og

(D) Ol

61.

62.

In environmental study class, in conp
with the theme ‘clothes’, concepts lj|
history of clothes, nppropriutc cloth
different periods, materials used for m
clothes, and how clothes protect us
heat and cold are discussed.
characteristic of environmental ¢

curriculum reflected here ?

A) Process oriented approach

(
(B) Child centered approach
(
(

C) Integrated approach
D) Activity oriented approach
The process which help to compo
biowaste is :

Recycle

Repair

Rot

Reuse




oMmROW 6200l af® ?
(A) 6uomd @oemJi@d oand 6uOM -
@naildorssivnomu]

NIOBINONIWO®IRIE - alerloen)

&I _I?Ik"u‘d;,;j‘j\»m A A
&M MpeIaNsnow

}RL0IOSI6Y

v
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@YOUOMo

N ajaion

64.

Which is the incorrect pair ?

(A) Khan Abdul - Frontier Ga
Gaffer Khan

(B) Bala Gangadhara - Punjab Ke
Thilak

Sardar Vallabhai Patel - The Iron

Sarojini Naidu - The Nightingale

India

Natural environment where a p‘xrti\ul:xr
species lives is :

(A) Community

(B) Population

(C) Habitat

(D) Ecosystem




entri

06T ghommslad o

oo alleioy-

A0 OaICRINHUSIBHI™N 5
© Q ‘“’/"ﬁr‘.JDf“J \,f‘,. m S5 Galo

©

slmalledleon = 2
(madledlom weleiw e B0

LD
(A) 80
60

40

In primary classes, what is the correct grade
point percentage for the 5 - point grading

system used in continuous assessment ?

(A) 80-100 A
60-79B
40-59C
20-39D
20 below E
90 -100 A
70 - 89 B
50-69C
30-49D
30 below E
- 100 A
-69B
-49C
-29D

below 1




melmoomemslad nelwIw

10 - hich is the correct pair of st
s emlRleaan  qoquod® Which 1s the P* I
o] given below

MOOLIOR @RNDOME) (A) Nagaland

A@ETTIV AL (B) C hhattisgarh Raipy,

@emilald ooer2l (©) Manipur Ranch,
adlceloes (D) Mizoram Shillop

AIGOVION20

apigemm @ (G@.OGTJJJ;&'(T%(TUU 67. Phone number used to call an Apy

86)0 (00 @mc(n;ocﬂc«mmg

B3
o *

in emergency situations :

P
elE|

(A) 101

(B) 100
(C) 1098
(D) 102



(”n"umﬂm & 0da]0- Of the following the largest water rg

el el for agricultural purpose is :

(A) Malampuzha

(B) Peechi
(C) Kallada
(D) Pamba

20£0@1QOS o) MU ®@IEM’ Which special property of charcoal
pvenies moenenieies aogd addpde in water filters of rain water har

60 lCRONOQS)OTT M@ ? systems ?

(A) Pores

(B) Black colour
(C) Shape

(D) Less weight
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70.

In standard 3 Environment 1 studs

students experience
or stem of a plant is important, wh
most .\p]n'upl'i.;ltv.' learning
resolve it ?

(A) Interview, Debate

(B) Group discussion, Debate

(C) Simple experiment, debat

(D) Quiz, Debate
The fullform of PBR related with Biodiversity :

(A) People’s Biodiversity Register

: Register

(B) Panchayat Biodiversity
(C) Principal Biodiversity Register

(D) Public Biodiversity Register




@0y mmdleoymald@d mowdesm  72. Which among the following pH of the soil
MMYEIREIes ISd.ojE EMIGRIRIMOW
aeflon allegial (pH)

that is generally suitable for the growth of
. plants ?
5.85 (A)y 75-85

e,

8-9

06 HOD coele el 73.

oM a0l
sm«wm"lg;om’o) of socio-emotional area :

aNeio)emel 00
QG?(T‘)OJJ_GTW ‘
) gAYl (A) Communication skill

~ R ~ YN Y .
(R) o1 ameRSIEe 0! (B) Decision making
Ay ¢ - W) ok s

(A) apre oo

(C) Data interpretation

(C) eomETBUW (

(D) AWOEDS GURE

(D) Creative thinking skill




74, EJOQG)QOQ” agemﬂ(z;% ce,&sgmm% dh06MmM 74. Elements that are more abundap .

G)&EJCQ:GUBU% .

soil :

(A) Calcium, Magnesium

(A)  &oadmyyo, 6@UTlago
[ron, Aluminium

snmm, @peldlaioo

Nitrogen, Phosphorus

OOMSRD, GandPOM
Potassium, Chlorine

£1050MYo, GOl

ag)®6m al@lde)m ? 75. What is Hypothesis ?
aymdlafled @oslmoomamle]ss
(aJoLodilds aflvamo

IO Ol alyoaljomia]
ag)orsfleojoym afloamo
welwoeemm  omgldlanea]s
mlmamo

H®ROOEMM pmglaflanee]s
mlvamo

(A) Primary inference on the }

pre-requ isites

Conclusion drawn after intery,

of data

Proven inference

Disproven inference
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(D)

Slafloerd aomiellee! (alafla0ImoTmd: cﬁ:é"O’](rHV
ag)MIleMme@ELJoo aflaieyemm) ?

(A) Q’I_"z}%
Slo)d, asdlmoat

dod, aldlmoal, alom @GR

alOl®moal

76.

Of the following crop that hask .

amount of starch :
(A) Colocasia
(B) Pea
(C) Spinach
(D) Okra
|
The reflective note in the teaching :‘.‘7‘:
includes :
(A) Teacher
(B) Teacher, learner
(C) Teacher, learner, learning stratt

(D) Learner
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‘\r"[‘?siJ,"!‘)'(‘Jf!'.".;'!u('7'11;%’111‘(1Mtwi” trate the
portion of various components of

atmospheric air is :

Flow chart

Pie chart
[ree chart

Cycle chart

M

20 an@m 79.
TBRIOS c/mkwom) )50

The correct set of green

house gases
responsible for global warming :
NEM, Q920 ,
110, 63012203 (A) Methane, Argon, Oxygen
B0 enIend, (B)

Ch}omﬂLzoz'm:al'b()r], J\fitmgcn, Water

va pour

Carbon dioxide, Methane,
oxide

Nitrous

Carbon dioxide, Oxvgvn, A\"ihﬂgen
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80. What is Polyculture ?
(A) A farming method that uses different
fertilizers in an area,
(B)  The practice of culh‘vah’ng a single crop
in a particular area at a time,
(C)  The practice of cultivating more than
One crops together in the same are, at

a time,

(D) A [arming method that uses only one

type of fertilizer in one area,

81. Which among the !’o]!mving IS not a firg aid ?
(A) Blood transfusjon
(B) Using splint
(C) Give artificia] Tespiration
(D) Give CPR




No C‘};gg]d}).é!m" p@(m 82 ]'h(. \'\'HIU‘," H'IN’ ‘l)l‘g"‘_ﬂz)k['l/ :',;}1’ ["H;:U}'v{

! PO
I'en
Cil

3 U2 O@:f‘fim@.iﬁihooaﬁ : “Nature deficit disorder among child

Aadlasim? :
Ba00H6)I0613(TV (A) Stephen Hawkings

(B) Richard Louv

(C) Wil (C) Gandhij

(D) eafimmaln $06nod (D) Rabindra Nath Tagore

lallHa1es aleimd . > 5 ol
glallegins 21emoQQaBaeas MM 83. Choose the correct pair of locomotor organs
el O ezoal] y 9 :

1S PRI ¢RI a® and organisms.

(A) aJoalmi® )l ' T
) plmilwo asq}‘}a}@,(fﬁ (A) Paramecium Tentacle

(B) a@nlm ;
(B) @RIM QQoe&L o (B) Euglena Flagellum

mileflo (C) Amoeba Cilia

dbaiSaloB6udd (D) Hydra Pseudopodia
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84. Disease caused by virus :
(A) Typhoid
(B) Ringworm
(C) Tuberculosis
(D) Dengue fever

The planet with the following characteristics :

85.

e No moons
The planet nearest to the sun

The smallest planet in the solar system

(A) Mercury
(B) Neptune
(C) Uranus
(D) Venus
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The statements below are related to which

of the domain of science education ?

Observe examples of science concepts

in day to day life.

Understand the ‘scientific principles
related to the working of household

appliances.

Following a scientific lifestyle in food

and health.

Process skill domain
(B) Creativity domain
(C) Attitudinal domain

(D) Application domain




il

"hich i > WI statement related |
O 6EN20dh]- Which is the wrong statemse ¢ b
earth ?

(aJaPOQIM occurrence of day and night on

(A) Sunlight travels on straight lin

qoeral-

QIB)M)
(B) Earth is a translucent ¢

8)0 B0} @ARLMOR AU} EDEM.

\f’jt't L.

(C) It will be day on the side that faces the
sun, and night on the other side.

M) (00 al@lHeim BN
aldello af)@deoMEm M(@I®io

OB,

mjMmo @.2))mensla (@memo The earth is rotating on its axis.

' )
(CHnl

6)2JQ) M.
pasle

90. Which among the following is

®0e¥vojo)maeed oew Zall ag® ?
- amphibian ?

(A) Salamander

(B) Crocodile
(C) Tortoise

(D) Earthworm
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i 5 Inle m&a1eLel NeMI® « : Assessment in math
entri 5. 00l0a0] gamjagon GITI® wion

. LT
primary classes incluc

» (Generalisation) £ Generalisation

oale@omo (Data 3) Data Handling

Handling)

AL 19 \

oeenowo (Number sense) (C) Number sense

LOeTm® ag)gjoo (All the All the above

.KE’U‘.'U.

domoo®  ©BJIanmememsldd ol . The

method of

) ag)@nfleo)o
)

20 through concrete

o

MO MIDMDYS)

general conclusion i

Inductive Method) (A)

Inductive

Noom olo) \'l)lﬂ!llx"“‘.'l‘ "'.I'.'”](lkj) l)l‘kil' Hve

I (Project Method)
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Father is 50 vears o

'.1:':*1'[[’;}‘2(3('”: J old. ,'.\H,'."' ]M‘\‘. many

(o@D 16 will twice the son’s

010)




HeM2lo Gdglo O.21@ro (Visual,

BT\ CUOAELISHITN]

uditory, Kinaesthetic)
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Which of the following is a false statement

A\ A
\

about mathematics learning using TLM

(Teaching Learning Materials)

(A) Provides opportunities for learning by

seeing, listening and doing (Visual

Auditory, Kinaesthetic).

(B) Abstract concepts ar .,“.1'\'}\ y

assimilated.

(C) Increases children’s interest In

mathematics learning

More time is required for completing

the topics
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Who among

from Ke

Brahmagu

Neelakantha Somayvaji

Pythagoras

minute hand in legre

315 is :

60

41. The angle between the hour 1

es W ll'."H




o alomowiled BALA ag)M®)6d-06Ns 42. The mathematics learning

Slee0M®) : BALA aims :

(A) Utilise the school

classrooms, walls, d¢
surroundings and st

for mathematics lear:

Improve mathema

home environment

IZM reas




[f January 5 is Saturdav, then

Mondays will be there in that month




. 5 ) A\ AR A Mo 2L M eant / a . s r o .
entrl 43. 7 QORIEMBUD alOEhSIENIM &0) (&1H0n . 9 Countries participated in a cricket

HUD a OO 6300) MM tournament. If each team compete with

N DBTVOEIRD another team (m]_‘.' once, then how many

matches will be there ?
(A) 45
(B)
(C)

(D)

If 24 kilogram of sugar was divided equally

among 7 people, how many kilogram of

sugar will each person get
5 jd

kilogram
O
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What is the area of a square with

nl(‘d““”n): one (Hl(i a h‘l“ metre ?

(A) 2 : square metre

1

1— square metre

3 square metre

6 square meltre

What is the symbol representing zerq

Roman numeral system ?
(A) M

(B) C

© L

(D) There is no symbol for zero




20165 ®MIldHa)m neml® (RN 49. Which is the most suitable metho

pemeo  HOMEMMBIM  ofRAo
@MEORIBO® @lXfl aR® ?

finding the solution of the problem ¢

below :

Find the average rainfall received in the b
8 g

Years in various districts of Kerala and |

on a graph paper,

(A) Inductive Method

2 )
@AM IO

miloaom ol (B) Deductive Method
(C) Project Method

(D) Experimental Method
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51.

What are the possible length and

arec

tangle of are

a 12 squa

perimeter 14 centimetre

(A)

The number obtained by

Length 4
centimetre
Length 6
centimeftre
Length 12
centimeftre
Length 9

centimetre

twenty and 30%

number ?

(A)

(8
©
;

23
46
100

92

centimeltre,

centime

re ¢

tre,

centimetr

centimetre,

of fifty

adding 40%

1S

10

o of whicl
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218 |]I'i1m11;-'\1\iH{‘;{Ll(?:tcc) . Which of the following 1S known

~annceem an® ? Hhanacei S e ?
o6UIOCLRHEMI af3® Fibonacci Sequence !

(A)

(B)

What is the remainder when

28467 is divided by 100
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£ centimetre
5.03 metre =

) metre = 90|

7 kilometre

not equal to
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(A) 10 aeri

(B) 11 mem)
(C) 12 aen

(D) 1 aem

_1 X60X70=90%x?x20

Flashlights attached to two lighthouses light
up every 30 minutes and every 40 minutes
respectively. If they both light up together
at exactly 8 o’clock, then what will be the

next time they will light up together ?

10 o'clock
11 o'clock
12 o'clock

1 o’clock

X60x70=90x%x7?x20




60.

[f one of the fou

lines intersect at a point

the another an

measures each of
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